
Time: 10 Minutes Paper Math 8th (T-1) Total Marks: 10

3rd Month, 1st Week, 1st Day Exercise 1.19  Complete

Q.1. Choose the correct options.   (1 × 2 = 2)  
(i) Convert Rs. 70000 into US Dollar.  70000

(a) US$ 386.35 (b) US$ 390.65 (c) US$ 385.25 (d) US$ 395.75

(ii) Convert Rs. 48000 into indian Rupee.  48000

(a) 2355.42 INR (b) 23645.32 INR (c) 2365.42 INR (d) 2375.32 INR

 Answer the following questions: (2 × 4 = 8)  
Q.1. Convert Rs. 35,000 into Australian Dollar. (1 Australian Dollar = Rs. 134)

 134  3500

Q.2. Convert Rs. 80,000 into Chinese Yaun. (1 Chinese Yaun = Rs. 23.55)

 23.55=  1  80,000

Q.3. Convert Rs. 50,000 into Canadian Dollar. (1 Canadian Dollar = Rs.

(142.50)

 142.50  1  50,000

Q.4. Convert Rs. 70.000 into Turkish Lira. (1 Turkish Lira = Rs. (12.24)

 12.24=  1  70,000
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